
 

 

 

 __________________________________الرقم الجامعي:___________________________________اسم الطالب:____

 

 مجموعتين.  Bو Aلتكن السؤال الأول: 

,∋ باستخدام أحد الرموز الآتية: أكمل الفراغ ∃, ∄, ∉, ⊆, −, ∀,  :(درجات 3) ∩,∪,=

1-  1 … {1} 

2- (𝐴 ⊆ 𝐵) ∧ (𝐵 ⊆ 𝐴) ⟺ 𝐴 … 𝐵  

3- {1,2} … {{1,2}} 

4- {𝑥|𝑥 ∈ 𝐴 ∧ 𝑥 ∈ 𝐵} = 𝐴 … 𝐵 

5- {𝑥|𝑥 ∈ 𝐴 ∧ 𝑥 ∉ 𝐵} = 𝐴 … 𝐵 

…، تكتب بالترميز الرياضي: A)ي ف x يوجد) -6 𝑥 ∈ 𝐴 
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 ريض 131مقرر 

 دقيقة 15المدة: 



 الحل
 

 السؤال الأول:

1- ∈ 

2- = 

3- ∈ 

4- ∩ 

5- − 

6- ∃ 

 

 


